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2 Wand

(2 points/8 points)
Time Limit: 1.5 seconds

Memory Limit: 512 MB

Statement

In the Wand Emporium of Ollivander, there are n different types of branches. The i-th type of branch has a
compatibility value a;, and each type of branch has an infinite supply.

A wand is composed of two branches, which can be of the same type or different types.

Each wand has a stability value. The stability value of a wand made from the 2-th and j-th types of branches
isa; X a;-

Too stable is not good, and too unstable is also not good. According to research, the closer the stability
value is to k, the better.

You, as a new student at the School of Magic, are currently in Ollivander's Wand Emporium preparing to
purchase wands for your next three years of use.

What is the best wand you can assemble? In other words, find min; <; j<, |k —a; x aj\.

Please note that in Ollivander's Wand Emporium, branches are sorted in a special way. It is guaranteed that
there exists a number p satisfying 1 < p < n,suchthata; < as <---<apanda, > ap 1 > - - > a,.
In other words, a[1 ... p] is non-descending, and a[p . . . n] is non-increasing.

Input Format

The first line of input contains two positive integers n and k, representing the number of different types of
branches and the desired stability value.

The second line contains n non-negative integers a1, as, . . . , a,, Where a; represents the compatibility
value of the 2-th type of branch.

It is guaranteed there exists a number p satisfying 1 < p < n, such thata[l...p] is non-descending, and
alp...nlis non-increasing.

Output Format
Output an integer, representing min<; j<, |k —a; X aj|

Constraints

e 1< n< x106,
e 0< k<10,
e 0<a;<10%fori=1,2,...,n.
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Subtasks

e Subtask 1 satisfies that n < 1000.

e Subtask 2 has no extra constraints.

Test Cases
Input 1

55
12321

Output 1

Input 2

54
12321

Output 2

Input 2

45
1234

Output 2

Illustrations

In Example 1, you can use the 2nd and 4th types of branches to make a wand with a stability value of
2 X 2 = 4, where |k — 4| = 1is the best.
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In Example 2, you can use the 2nd and 4th types of branches to make a wand with a stability value of
2 X 2 =4, where |k — 4| = 0O'is the best.

In Example 3, you can use the 2nd and 3rd types of branches to make a wand with a stability value of
2 X 3 = 6, where |k — 5| = 1is the best.
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